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(1)A. gun B. fun : C. hut D. put
(2)A. m-_-e_gt B. meat C. great D. niece
(3)A. write B. wait C. wake D. wall
(4 )A. cause B. talk C. fork D. laugh
" (5)A. them B. thank C. with D. thelr
(6 )A. ioke B. float C. go D. do
(7)A. rich B. find C. ride D, flight
(8 )A. year B. young C. June D, yard
(9 )A. necar B. heart C. here D. fear
(10 ) A. hurt B. serve C. merry D. mercy
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I
Matter exists mainly ( 11 ) three states, , as a solld, as a liquid, and
as a gas, ( 12 ) room temperature, some substances are in a solld state
(steel ), ( 13 )in a liquid state ( water and mercury ), while still (

14 )are in a gascous state ( hydrogen ( £ ), oxygen ( &% ), and nltrogen
CES J ). The state of matter may ( 15 ) by raising or lowering the
temperature or by varying the pressure. Heat applled to water makes it boll or
vaporize (2 ) . Thus it changes ( 16 )a liquld to a gaseous state. When
water ( 17 ) heat, it passes to a solid state and ( 18 ) ice. These
changes do not Involve ( $4Wi; ¥ K& ) making or breaking chemical bonds (8)
that ( 19 ) molecules ( 43F ) together. Water always has the molecular -formula
H>0 whether it appears as gas, liquid, or ice. ( 20 ) this reason, a change
Iin the state of matter rcpresents a physical change rather than a chemical change.
(11) A. of B. in C. by D. with




(12 ) A. Above B. By C. At D. Below

(13 ) A. others B. other C. the other D. the others
(14 ) A. the others B. some

C. some others D. others
(15 ) A. be changing B. change

C. have changed D. be changed
(16 ) A. with - B, in C, from D. through
(17 ) A. is losing B. loses C. has lost D. will lose
(18 ) A. becomes like B. becomes

C. seems like D. Is so cold as
(19 )A. et ' B. make C. hold D. allow
(20 )A. Because B. With C. For D, Since

I
The changes which matter undergone ( 21 ) passing from one state

to another ( 22 ) the result of changes in the motion of atoms ( JRF )
or molecules. (- 23  )a lump of lce, for example, the molecules are constantly

vibrating ( #&3h ) back and forth. As more heat energy is applied, the rate and

amplitude ( #%H& ) of vibration (24 ) greater. This means that each molecule

not only begins to move faster but also travels ( 25 ) . When a temperature

above 0'C Is reached, the molecules move too violently ( XM ) 1o retain a

solid state, and the lce becomes what Is commonly ( 26 ) as water, If the

temperature is ralsed sthl ( 27 ), the, molecules will continue ( 28 )
thelr ‘motion, ‘both In speed and distance. ( 29 ) 100°C the molecules

overcome atmospheric pressure, and move off into space as a gas. That Is (

30 ) happens when water boils.

(21.) A. after B. through - C. before D. in
(22.)A. will be B. is C. are D. has been
(23 ) A. Under. B. By C. With D. In

(24 )A. tum B. change into C. become ' D. appear
(25 )A. farther ~ B. far . C, further D. away
(26 )A. said ‘B. known C. called D. shown
(27 )A. nearer B. further C. farther D. up

(28 )A. to Increase B. Increasing

4
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C. for continuing D. in Increasing
(29 )A. Under B. Below C. Near D. At
(30 )A. why B. It C. how D. what

=. 7EA. B, C. DANEET, BHETUHEAZTHLENERER,

(31 ) Cars, airplanes, and factories make air pollution (3% )

__many ways.

A. at B. by C. In : D. from

(32 ) It is believed that children are born an abllity to learn
and use a language.
A. about B. for C. after D. with

(33 ) “Have you scen Ma Hong? Where is he? ” “He’s stlll sleeping. He _
_____ to go to class.”

A. ought B. must C. should D. may
(34 ) “Why didn’t Wang Xin and Li Hua go to the department store to buy

the tortoiseshell combs? ” “ of them had enough money,”
A. Some B. Any C. Al D. None

(35) “I can’t work tonight.” “ can 1.7
A. Nelther B. Either C. Also D. So

(36 ) “Do you like most of your classes? ” “Yes, but I dislike
__ English,”
A. study B. studying C. to study D. for studying

(37 )Please try to___ a good example to the new students.
A. make B. set C. do D. show

(38) the physicist was very tired, he went on doing his
experiments,
A. Let B. Because of C. Even D. Although

(139 ) Fruit is said to be ‘ : _for me but I don’t much lke It.
A. healthy B. good C. satisfying D. valuable

(40 ) Discomfort means to him. He always does his work well.
A. everything : B. something
C. all D. nothing

(41) His pronunciation would improve if he , with a tape recorder.
A. exerclsed B. repeated C. trained D. practised

(42) A few brown and yellow autumn leaves were_ down the river,
A. flowing B. swimming C. driving D. floating

v




(43) “Why is the new English teacher tired?

“ Because the students so many questions,”
A. asked to him B. asked him
C. to him asked : D. him to ask

(44 ) “What happened last week after the storm?
“ The house near the factory by the wind.”

A. blew down B. was blown to down
C. was blown down D. was to blow down

(45)Of the twenty puplls In the class, Marry is______ cholce to get
the prize. ‘ ‘
A, the good B. the better C. the best D. a well

(46 ) The more thoroughly you do the job now, It will be
when you have to do it next time, '
A. the easler . B. the harder
C. the more easy D. the easlest

(47 ) Our guests didn’t turn up so we needn’t have bought all that extra
food
A. after all B. on that account
C. In that case ’ D. for all that

(48) “Do you prepare your breakfast yourself?
“Yes, I'm used to_ meals myself,”
A. belng cooked B. cooking
C. cook D. be cooking .

(49 ) “Oh, how tired T am! ” “ You look pale. You ought__ ___a
doctor.” '
A. go to see B. go and to see
C. go. and see D. to go and see

(50) he has got high marks for all his examinations.

A. At the last three years
B. In the three last years

C. For the last three years
D. For the three last years

(51) The food In China is______ that of Britain.
A. very different B. very different than
C. much different ' D. very different from
6




(52 ) His knowledge of Chinese and English and international Incldents

A. help him for his work
B. help him by his work
C. helps him at his work
D. helps him In his work
(53) “What did the taxi driver say?

»

“He sald that he wouldn’t mind____ .
A. wait for us B. to walt for us
C. for us walting D. walting for us
(54 ) He's golng to the restaurant to meet the artlst, 9
A. Isn’t he B. doesn’t he
. C. won't he D. didn't he
(55) » rlding a bicycle Is similar to driving a bus.
A. From time to time . B. For a long .journey
C. In many ways D. By many drivers
(56 ) We wish that he__%_____a talk with the writer, because we’re sure

that he would have enioyed the interesting talk.

. A. had B. had had
C. did have had D. have had
(57 ) Hardly the spa?eshlp when all the people started .cheering.

A. had the astronauts left

B. the astronauts were leaving

C. did the astronauts leave

D. have the astronauts had left
(58 ) I enioy reading books written by Charles Dickens, my classmate

LI Hong.
A. so Is , B. so does 5 C. also - D. and also
(59 ) He 1Is finding it ' __the new Qords.
A. difficult reading \B. difflcult of reading
C. difflculty In reading D. difficult to read
(60 ) “Do you still remember the talk glven by that old :sclentist? ~”
“ Yes. 7 '

A. Never I shall forget it.
B. Nelither shall T forget it.




C.So do I.
D. Never shall I forget it.
M. 7 FFEANEA LIS, JitH*Al‘E;J WA LA 8RR
(61 ) There is no people like them when they are good and when thcy
A B
go badly there Is no people that Is worse.
C D C
(62 ) The book falr in Belilng will help China further understandin
h | o '__—___EA
develpments throughout the world, - particularly In the flelds of
B : c C bR D
sclence and technology.
(63 )Laylng on the ground, he looked up at the man who had hit him and

A R

shut his eyes and crossed his hands on hls chest, and lald there beside

v, ' C
Don as though he was asleep.
D A
( 64 ) The sclentist’s son hasn’t decided yet whether he wants to be a doctor
A B = C
or a physicist, It Is a serlous declde.
D .
(65 ) China is making so rapld strides ( X% )In many ways that we might
A :
one day find it making a contributlon to solving food problems of
: B C D

other countries of the world.

(66 ) When language does change, the alteration ( B(ZF ) first occurs in the

A ’ ‘B
spoken,  mot the writing, form.
C \ b ’
(67 ) People are:recording thelr dally thoughts and ‘activities In dlarles,
A B C
journals, and notebooks since writing was Invented.
D




( 68 ) Madame Curic discovered that radium is an eclement that gave off particles

A B C
of energy. ’
D
(69 )If he had been to the Decpartment of Education he could make an
A B C
explanation of the failure in his study.
D
(70 ) Only when he answered all the questions put by the inspector
‘ A
he was allowed to go home.
B C D

hy EEPNETHEHIAMA, B, C, DIEI/\*J?'# w5 R A B R
B ) F o
(71) On his fificth birthday, Efnstein received many gifts, !
A. People sent many things to Einstein when he was 50 years old.
B. Einsteln got many bilthday presents when ‘it was his fiftleth birthday.
C. In celebration of the 5Qth birthday, Einsteln_got many presents for
his friends.
D. Varlous kinds of gifts were handed to Elastein on his flftleth birthday.
(72 ) He always takes a cup of milk and a plece of bréad for his breakfast,
A. At all times he likes to cat bread together with a cup of milk.
“B. For his breakfast, he likes to have a cup of mllk together wlth a
plece of bread.
C. A cup of milk with a picce of bread is what he always has for
breakfast.
D. For breakfast he does not have anything except milk and bread
(73 ) The students in Class Three thought so much of the English teacher,
A. The English teacher was admired by the students in Class Three.
B. Class Three students thought very hlghly of the teachcr who taught

them English.
C. The students in Class Three had a high regard for the teacher giving

them English lessons.
D. The students In Class Threec have a bad opinion of their English teacher.

t

(74 ) He is honest ncither with his friends nor with his parents.




A. He is not honest with his friends a;ld his parents.
B. He is always telling lies not only to his friends but also to his parents,
C. He is dishonest both with his friends and with his parents.
D. Elther his friends or his parents find him to be honest.
( 75 ) Madame Curie received a second Nobel prize in 1911 for her excellent
work In chemistry.
A. The Nobel prize was awarded to Madame Curie again in 1911 for
her achlevements in the field of chemistry. |
B. It was only in 1911 that Madame Curie got the Nobel second prize
because of her achlevements In chemistry. . ‘
C. Madame Curle achieved so much In chemlstry that she recelved another
Nobel pr]ze in 1911.
“ D. Because of her successful work in chemistry, Madame Curle got the
Nobel prize in 1911 for the second time.
A BRI THATRUMEARES RANER, ﬁ.HLIEﬁ’E*%
( 76 ) His father often advised him not te live, the vacuous life of many rich
people but to try to g.ive more to and take less from the society.
A. RWR B. MEN C. HEH D. B
(77 ) When her father Is sick, he Is very querulous,
A, BEMERN B. KEMMNE  C. ASKHPHH D BREEN
(78 ) “ All the hotels are full. What Is to be done? ~
“Well. 1 thlnk we shall have to blvouack somewhere in’ the woods.”
A. R B B. ®%H C. B& D. fT%
(79 )The Bersglcaclous remarks made by the sclentist helped the students to
understand the difficult points quickly.
A BRRE B. KR C. B D. ZZH)
(80 )It is useless to brlng this matter to his attentlon, becausc he often pays
attention to the Rlcazune aspect ( J7IH ) of the matter.
A RBFER B BRHEER
C. A EiﬁB‘J ' D. ¥ HBMH
. DE&'FFJEXC#&@% HHEE. ENAERSP, vk £ BE [5 % Br 38 18] &2 B9
REER,

Anselmo was now so cold that he decided he had best go to camp before

10




it was dark. He had no fcar of missing the way, but he thought it was useless
to stay longer and the wind was blowing colder all the time and there was no
lessening of the snow. But when he stood up and stamped his feet and looked
through the driving snow at thc road he did not start off up the hillside but
stayed leaning against the sheltered side of the pine tree.

The Ingle’s ( = English ) told mc to stay, he thought. Even now he may
be on the way here and, if I lcave this place, he may lose himself in the snow
scarching for me. All through this war we have suffered from a lack of discipline
and from the disobeying of orders and I will wait a while still for the Ingl'e\s.

But if he docs not come soon I must go in spite of all orders for I have
a report to make now, and I have much to do in these days, and to freeze
here is an exaggeration and without utility ( ¢ ) .

(81 ) Why did Ansclmo decide to go to camp before it was dark?
A. Because he was afraid that he might miss the way.
B. Because it might be too dark to climb up the hillside,
C. Because he could not find the pine tree.
D, Because thc cold wind and the heavy snow made him feel very cold.
(82 ) Why did Ansclmo not start off up the hillside at once?
‘ A, Because he liked to stay lcaning against the pine tree,
B.'Bec‘ausc hc thought that it was nccessary for him to wait for the I_t_1_glé‘_§_
for a while.
C. Because he did not know the way.
D. Because he was afraid to go alone.
(83 ) What would happen, if Ansclmo were to lcave the placc without meeting
the Inglc s?
A. The Ingle s might kill him,
B. The Inglé s might think that he was killed.
C. The lrl&]é‘_s might lose himself in the snow searching for Anselmo.
D. Ansclmo might suffer from a lack of discipline. '
(84 ) What did Anselmo think of doing, if the Inglé's did not come soon?
A. He should go and scarch for the Mﬂ
B. He must lcave the placc in spitc of all orders.
C. He should ask the l’l&l_é‘_i to make a report.
D. He had to continue stamping his feet. ;
(85 ) Which of the following reasons could ‘Anscimo give for his golng away?

11




A. He had a report to make at that time.

B. He had a lot of things to do.

C. It would be an exaggeration and without utility to wait for the I___n&]_éi
and to freeze at that place.

D. All of the above.

II
Song Dingbo Catches a Ghost

Song Dingbo of Nanyang, when a young man, met a ghost one night as
he was walking.

“Who are you? " he asked.

The ghost answered, “ A ghost.” It then asked. “ And who are you? ”

“1 am a ghost, ” licd Song. “ Where are you golng?

“To the town of Wan, ~was the reply.

“So am 1.7

They went along together for several 1.

“Walking like this is to0 slow. Why not carry each other in turn? ” suggested
the ghost,

“A good idea, ”agreed Song.

- Flrst the ghost carried him for several i,

“How heavy you are ! ”sald the ghost. “ Are you really a phantom? ”

“I am a new ghost, ”answered Song. “ That’s why T am heavy.”

Then he carried the ghost, who was no weight at all., And so they went
on, changing several times.

“As T am a new ghost, ~ remarked Song presently, “1 don’t know what
we spectres have to fear most.”

“What we detest Is man’s spittle.”

They proceeded together till they carﬁe to a stream. Song invited the ghost
to cross first, which it did without a sound. Song, however, made quite a splash.

“ How comes it that you make such a noise? ” inquired the ghost.

That’s because I am a new ghost. I am not accustomed yet to wading through
water. You mustn’t blame me. '

12
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As they approached the town of Wan, Song threw the ghost over his shoulder
and held it fast. With a screech the ghost begged to be put down, but Song
paid no attention, making straight for the town., When he set the ghost down,
it had turned into a shecp. He promptly sold it, having spat it first to prevent
it from changing Into another form. Then he left, the richer by one thousand
flve hundred coins.

Xin Zong commented on this at the time as follow,

Song_Dingbo did better than most,
Made fifteen hundred coins by selling a ghost,

ghost spittle  HER promptly T Hy
phantom : 5, #4X procced H Xk coin &M
spectre J screech 430y comment  PEif

(86 ) “Who was Song Dingbo? ~

A. He was a ghost, too.

B. He was a young new phantom.

C. He was a ghost living In Nanyang.

D. He was a young man born In Nanyang.
(87 ) “Where was the ghost going? ~

A. The ghost was going to Wan alone,

B. The ghost was going to Wan with Song Dingbo.

C. The ‘ghost was going to visit another ghost,

D. The ghost was going to buy a goat,.
(88 ) Which of the following statements s true?

A. Song was very brave when he met the ghost.

B. Song was a Iittle sufprised at seeing the ghost.

C. Song was rather happy when he saw the ghost,

D. Song was not a bit frightened and began to talk with the ghost.
(89 ) When -Song crossed the stream he made a big noise. Why?

A. Because he was a new ghost,

B. Because he was not a spectre at all,

C. Because he was heavy.

D. Because he was not accustomed to wading through water.
(90 ) In what way did Song Dingbo show his cleverness?
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